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Hudsos Park Higi‘; School 1.2 Find the coordinates of B. the midpoint of EC.
1.3 Find the equation of AB
o {4 Find the gradient of EC
GRADE 11 1.3 Show that ABCD is a trapezium.
MATHEMATICS )
Paper 2 uestion 2{ }0 marks)

A cirele is drawn on the Cartesian Plane with centre A (1:2). B is a poind on the circumference of

Time <7 hours Date © May 2016 the circle. The equation of line AB isy = 5x — 3. C is a poiat on the x — axis with the

- coordinates (-1 5:0)
Marks - 100 Examiner : SLK
¥
iINSTRUCTIONS

1. [Hegible work, in the opinion of the marker, will earn zero marks.

2. Numbey your answers ciearly and accutately.
3. NB Staple your answer pages on top followed by the question paper at the back.
4, Employ relevant formulae and show all working out. Answers alone may not be awarded
full marks. -
5. (Nen programmable and non graphical) Calculators may be used, unless their usage
is specifically prohibited.
6. Round olT answers to 2 decimal places, whete necessary, uniess instructed otherwise. *

Question 1 {15 marks)

Points A (-3;1). € (3;2). D {3;7) and E{-4;-5} are found on the diagram below. AD. AB. EC and

CD are straight lines. B is the midpoint of line CE.

4y D37
A 351 C{3:;2)
X
B
E (-4;-5) v
i1 Find the lengih of AC. Leave your answer in surd form.

}

What are the coordinates of B?
What i3 the gradient of Jine BC?
s BC a tangent o the circle at point B? Show afl calculations and reasoning.
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Question 3 (To be completed on Answer Sheet 1) {3 marks)

Grade 1} learners were asked how many hours per day they spend using social media during the
holidays. Their responses are drawn onto the histogram below. Use the histogram to answer the
questions that follow.

Asuanbasy

1 2 3 4 5 .6
Number of hours spent using social media

3.1 What is the range of responses? (hH
3.2 How many learners were surveyed? (1)
3.3 Complete the frequency table on the diagram sheet. (2
34 What is the mean number of hours spent on social media by this sample of learners? (3)
3.5 What is the median number of hours spent on social media. {Z)
3.6 Calculate the semi-interquartile range for these responses. {43
[13]
Question 4 {16 marks)
4.1 Find sin 70° M
42 Solve for 73 cosa—1=0, a €[0%90°] : 2

43  Iftan 22°=£ find sin 22° In terms of &, without using a calculator and with the aid of'a
suitable diagram. 3)

44 Draw the special triangles for:
440 30° {0
442 45 (1}

443 907 {1y

4.5 USE THE SPECIAL TRIANGLES ABOVE and find the following WITHOQUT

USING A CALCULATOR. :
451 tan 60° 3]
452 cos 90 H

A A
4.6 in the triangle below, A =42°. AD =35 cm and BC =931 cm. Find the size of C.
B

9,31 cm

L Y

A 35em D C {3) [16]

USE THE DIAGRAM SHEETS ATTACHED TO THE BACK OF THIS QUESTION
PAPER TO ANSWER QUESTIONS 5 TO 9. REMEMBER TO ATTACH THESE
SHEETS TO YOUR ANSWERS.

Cuestion 3 {5 marks)

€D is a tangen{ to ciicle ABC. The poiut of contact of tangent CD with the cirele is point C.
Preve Cr= AL {5}




Question 6 (6 marks)

AB is a chord in circle, centre O. OD is perpendicular to AB and OD is preduced to point C on

the circumference of the circle. AB = 18 em.

the fength 6f DB, with reasons.
m, caleulate the length of OC with reasons,
Questign 7 {6 marks) A

in circle ABCD below AB || €D.Ba=x,
Find, with reasons, 3 other angles equal to x.
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Question 8 (15 marks)

C is a-point on the circumference of circle, centre . PA end PB are tangents 10 the circle.

meeting the circle at points A and B respectively. A, = 36",

8.1
8.2
8.3

p

Prove that APBO is a cyelic quadrilateral.
Prove that APBQ is a kite.

Find the size of E with reasons.

Find the size of C, with reasons.
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Question 9 (14 marks) P e
in the figure A, P, QQ and R are points on the circumference of the circle, cenre 0L AB is a
tangent to the circle at A. OR and AQ intersect at T and QT =TA. A, = 36°

9.1 Give a rgason for each statement:
9.1.1 O“AB:‘)G° (1)
9,1.2 PAQ=190° ()

9.2 Determine with reasons the size of each angle:

A
92.1 APQ . )
922 AOR(0:) @
923 AOR (Q2) 2)

9.3 1s PA )1 ORY Justify vour answer. (41]
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